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The economists should abandon the assumption that the market has good control

of the exchangerates

After the collapse of the Bretton Woods regime, the battle cry was floating exchange
rate. The result was a huge increase in the frequency and intensity of financid crises.
After 2008, the battle cry is“ currency war” that the United States would have Sarted
when they tried to devaue the dollar, but that only got that name when Japan recently
intervened on the yen market to hdt its gppreciation. Now G7 finance ministers want
the IMF to formulate new regulations to prevent the currency war. Therefore, its
economists should abandon the assumption that the market has good control of the
exchange rates, and admit that they must be managed again, but in the framework of an
agreement aiming at balancing the countries current accounts, that should hover around

ZeX0.

If thisisadifficult agreement between rich countries, it isavirtualy impossible one
among them and developing countries. Few see clearly the reason for this difficulty, but
the governments of the developing countries are dready inferring it. These countries are
interested in welcoming multinationa corporations that would bring them technology,
but, as it happens with China, for receiving direct investment they do not need nor
should incur current account deficits. The true baance of their economiesis not
congstent with such deficits, asit was aways assumed, not even with a zero current
account, but rather with a current account surplus. They do not need “foreign savings’
to grow. Current account deficits only lead to exchange rate overvauation, to more

consumption, and usudly to asmadl increase in investment.

The explanation for this counterintuitive assertion liesin the fact thet practicaly al
developing countries suffer, dthough in varying degrees, from the Dutch disease. Their



exchange rate is defined by commodities using abundant and chegp natura resources
whose exports are lucrative with a more gppreciated exchange rate than the one that is
necessary for the other tradable industries using sate-of-the-art technology. Thisisaso
true for the dynamic Asan countries that, instead of abundant netural resources, have
chegp labor and amuch higher wage differentid than rich countries. If those countries
fal to manage their exchange rate, the exchange rate will be defined by low-technology
manufacturing indusdtries that use unskilled labor; consequently, the more sophisticated
industrid sectors, usng more engineers and skilled workers, become internationally
norn-competitive, even if they use the most modern technology.

For those countries to diversfy their economies and industridize, they must neutraize
this mgjor market failure. They need to move the exchange rate from the “ current”
equilibrium to the “indudrid” equilibrium — to aleve that makes for industries using

the best technology comptitive. This neutrdization is made either through the complete
control of the exchange rate, as does China, or through atax on the export of the good
giving rise to the Dutch disease. For the ail-producing countries, whose cost of
exploitation is very low, the required tax may be over 95% in relation to the export
value. For countries with aless savere Dutch disease, asit is the case with Brazil (on
account of natural resources) or China, on account of cheap labor and the big wage
span, the required tax should be around 20 to 25%.

Considering as constant the internationa price of the commodity, atax proportiond to
the severity of the Dutch disease neutrdizes this overvauation, because it shifts
upwards the supply curve of the good as compared to the exchange rate, and, as aresullt,
it moves it from the current equilibrium towards the industria equilibrium. For
example, let's assume that the current equilibrium exchange rate in Brazil (the one that
balances intertempordly the country's current account) is R$ 2.00 per dollar, and that
the exchange rate isin this point. In this case, should the government conclude that the
industrial equilibrium exchange rate is R$ 2.60 per dollar (the one that would make
comptitive industries using the best world technology available without any other
support or protection), and would soybean be the only good generating the Dutch
disease, an export tax of R$ 0.60 per exported dollar would neutrdize the Dutch
disease. Firg, it would make soybean exporters refuse to continue producing and
exporting a this exchange rate, because it would not be profitable. Their refusal would



go on until the exchange rate would reach R$ 2.60. In this way, they would be shifting
upwards their supply curve. Consequently, the exchange rate would move towards the
indugtrid equilibrium, and the Dutch disease would be neutralized.

When a country moves its exchange rate from the current equilibrium towards the
indugtria equilibrium, this means, necessaxily, that he will be achieving a current

account surplus. Now, if dl the countries facing the Dutch disease understand this fact
(asthey have started to do), and decide to neutrdize the disease (what is not easy), al of
them will have a current account surplus, and, consequently, rich countries will face a
current account deficit. A deficit they will have to be paid by transferring the property

of assets (securities, stock, rea property) to the resdents in the developing countries
that were able to neutralize the Dutch disease.

Therefore, it islikely that developing countries transfer capita to rich countries, and not
the other way round, as seems more naturd. The big surpluses that severd developing
countries are experiencing and the sovereign funds they are creeting aready reflect this
fact. It is necessary to have aworld agreement on the exchange rates, and this
agreement will only be reached with mutual concessions. But it is not probable that
developing countries will adhere to agreements to diminate their current account

surpluses.



